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I 1 mwn: wives who are barely distanced from eating nnyIn or 1wyn (n")
a  measures of distance:
i betrothed (no1Rn)
ii ~ pregnant (n12wn) — and he has died
iii DY PIMmY
b  relationships:
i 199 YRIW Na or YRIYWYY J0I Na- vis-a-vis NN
i %% SR N1 or HRIWY MY Na- vis-a-vis TN
1  Follows n"™ who equates 7wyn::nn1In and forbids to non-omY (v. 1)
(a) 1M17's interpretation of v.1 - just as M N generates 10, similarly 17yn
(i) alsoinferred from vv. 3-4, but v. 2 is needed for nmn
(b) n™ allows o> to eat it, but it is restricted to the recipient tribe, similar to nman
(c) n" doesn’t assign wmm nn>n to violation of 1”yn as per v. 2 — limited to nmn
2 y”ar1 permits 71”yn to be given to m1n3 — in spite of v. 6 (¥™), due to v. 7 (0’103 are called n™mY)
(a) y™—v.5 pushes meaning of 0% (not 01nd), since they can eat it ;pn Y31 — even a cemetery
(b) Y"ar1 - Ipn Y31 means no need for Pyn NN (unlike v”yn)
(c) Story of ™ turning entrance of garden towards mAapn na to prevent (1n13) Y”ar1 from taking 1”yn
iii 1039 "% n1a or NYY 103 Na- vis-a-vis both
1 Challenge: she can certainly eat 1”yn as either n% or nin
2 Interpretation #1: she cannot give permission for nmn to be taken
(a) ->amarried woman may give such permission as per v. 5
3 interpretation #2: they do not give her 1wyn at the granary
(a) challenge: this only works if the concern is Tin»; if the concern is nw1), even after divorce,
she eats 9"yn
(b) answer: N1y as a precaution against YX71w’ na nwIN
(c) Challenge: it shouldn’t read noyIR- this concern applies equally to nR1W)
(d) Answer: correct — NOYIX is parallel construction with beginning of niwn
II  nwynY nadn: usurpation of 9”yn from ©Y and reassignment to v1n3 OR D7y
a  The om?Y were fined because they didn’t join Xy during 2" wave of n»%y of 1% 2w (v. 8)
i Dispute between jmvy '3 and the elders:
1 Position #1: it goes to 0”1y
2 Position #2: it was assigned to D103, since during their days of nkmv they are akin to n»y
(a) Parenthetic observation: officers were originally o5 (as per v. 9); now they are YR7wn (non-
existent ,oa[!?])
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